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Roll No.  
 

 

%a]ÝÌ̂ ç 
ASSAMESE 

 

a]Ì̂  : 3 H³RôOç a[ýï]ÇPö X¶‘ö» : 100 
Time allowed : 3 Hours Maximum Marks : 100 

 

SECTION – A  

1. (Eõ) (i) YÒ̀ Âã[ýçWýEõ %[ýîÌ̂  EõçEõ å[ýçã_ ? A$RôOç =Vçc÷»S ×VÌ̂ ç *  1 + 1 = 2 

  (ii) Cãcg÷ç, ‘A»ç’ – ×Eõ %[ýîÌ̂  ?  1 
  (iii) ×¥Eõ]ïEõ ×yÔÌ̂ ç» =Vçc÷»S A$RôOç ×VÌ̂ ç *   1 
  (iv) Tö_» %Eõ]ïEõ ×yÔÌ̂ ç VÇ$RôOçEõ [ýçEõî» ac÷çÌ̂ Tö aEõ]ïEõ Eõ»ç :  1 + 1 = 2 

    cg÷çc÷, å`ç * 

  (v) aã¶‘öçWýXã[ýçWýEõ %[ýîÌ̂  %ç» %çXÇb×†Eõ %[ýîÌ̂  =Vçc÷»S ×V åVFÇC¾ç *  1 + 1 = 2 

 (F) (i) %ç$Jô_ `ŒTö åLç» [ýÇLç[ýê_ GPöX Eõ»ç `ŒEõ ×Eõ `Œ å[ýç_ç c÷Ì̂  * A$RôOç =Vçc÷»S ×V 

[ýÇãLç¾ç *  1 + 1 = 2 

  (ii) %XÇEõç» %XÇ»ÖY `Œ» A$RôOç =Vçc÷»S ×VÌ̂ ç *  1 

  (iii) ]É_ `Œ» ×Y$K÷Tö YÒçÌ̂  AãEõ ×X×$JôXç %U$Jô %Uï̀ ÉXî ×^ã[ýç» `Œ å^çG Eõ»ç c÷Ì̂  åac÷Oã[ýç»Eõ 

×Eõ `Œ å[ýçã_ ? 1 

 Please check that this question paper contains 4 printed pages.  

 Code number given on the right hand side of the question paper should be written on the 
title page of the answer-book by the candidate. 

 Please check that this question paper contains 13 questions. 

 Please write down the Serial Number of the question before attempting it. 

 15 minute time has been allotted to read this question paper. The question paper will be 
distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the 
question paper only and will not write any answer on the answer-book during this period. 

 

 

Code No.  
 

14
Candidates must write the Code on 
the title page of the answer-book. 
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 (G) Tö_» `Œ å[ýç»Tö ‘b’ åc÷ç¾ç» Eõç»S Vã`ïç¾ç * 1  3 = 3 

   %emœö    `ÒÝ$Jô»ãSbÇ    Eõrô *  

 (H) (i) Tö_» åEõçXæ$RôOç ×Eõ a]ça ×_Fç *  1 + 1 = 2  

   $Jô³VÐã`F»    \öçc÷O-EõEõçc÷O 
  (ii) [ýîça[ýçEõî \öç×Iø a]ça» Xç] ×_Fç *  1  3 = 3 

   c÷Töçc÷×Tö,  ×ÅyZõ_ç  VÝH_ c÷çTö  

  (iii)  [ýîºwø YVã[ýçã» ×[ýã`bî %ç»Ó ×[ýã`bS»ÓãY å^çG éc÷ åc÷ç¾ç a]çaEõ ×Eõ å[ýçã_ ?  1 

  (iv)  AEõã`b ¥³¥a]ça EõçEõ å[ýçã_, =Vçc÷»Sac÷ ×_Fç *  1 + 1 = 2 

 (Iø) (i)  EõTöÛçEõç»EõTö ×Eõ ×[ý\ö×Nþ å^çG c÷Ì̂  [ýçEõî A×$RôO» ac÷çÌ̂ Tö [ýÇLçc÷O ×_Fç *  1 

  (ii)  `Œ ×[ý\ö×Nþ åEõc÷O$RôOç ?  1 

 ($Jô) ‘æ`ÒSÝ’ `Œ [ýî¾c÷ç» Eõ×» VÇ$RôOç [ýçEõî GPöX Eõ»ç *  1 + 1 = 2 

 ($K÷) A$RôOç `ŒTö YÒEõç` Eõ»ç *  1  4 = 4 

  (i) EõUç» ×X¸JôÌ̂  Eõ×»[ýê_ YäPöç¾ç ×[ý`ŸçaÝ ]çXÇc÷ *  

  (ii) ^’é_ å^ç¾ç EõrôaçWýî *  

  (iii) ^ç» ]É»Tö $JÇô×_ Xçc÷O *  

  (iv) ^çEõ ac÷LãTö \öç×Iø[ý Yçã» *  

 (L) [ýçEõî »$JôXç Eõ»ç  *  1  4 = 4 

  (i) EõçX ×UÌ̂  Eõ»  

  (ii) ]ÇF å]×_ UçEõ  

  (iii) c÷çQÍöTö [ýX GLñç 

  (iv) [ýÇEÇõTö Eõçã]ç» ]ç»  
 

SECTION – B 

2. \öç¾ [ýc÷_çc÷O ×_Fç (A$RôOç»)  5 

 (Eõ) AYç×$Jô `çEõTö A$RôOç Lç_ÇEõ *  

 (F) `Ò] ×a×ˆù» %çã]çH ]Ü—ö *  
 

3. ×^ åEõçãXç A$RôOç ×[ýbÌ̂  é_ AFX »$JôXç ×_Fç *   10 

 (Eõ) XçG×»Eõ» Vç×Ì̂ ±¼ö %ç»Ó EõTöÛ[ýî 

 (F) %a]» [ýçXYçXÝ» a]aîç 

 (G) ]çX¾ a\öîTöç» ×[ýEõç`Tö ×[ýpûçX» %¾VçX *  
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SECTION – C 

4. Tö_» ×^ åEõçãXç Aä$K÷ç¾ç» TöçdY^ïî [ýîçFîç Eõ»ç *  4 

 (Eõ) AãX Y×[ýy YU» Y×UEõ åTöCg %ç]ç» X]aî *  

 (F) ]c÷O EõCg, å]ç» [ý§V`ïXTö ‘YãU Xç»Ý ×[ý[ý×LÛTöç Xc÷Ì̂ ’, a+É×LTöçãc÷ *  

 

5. “Eõ]ï %ç»Ó açWýXç %ç×$K÷_ %çX³V»ç] [ý»Ó¾ç» LÝ¾X» ]É_]Ü—ö *” – YçPö» ac÷çÌ̂ Tö [ýc÷_çc÷O ×_Fç *  6 

Xçc÷O[ýç 
 _©¿ÝXçU å[ýL[ý»Ó¾ç» ]ãTö ×[ýãV`Ý Xç$RôOEõ» %a]ÝÌ̂ ç %XÇ[ýçV åEõãX åc÷ç¾ç =×$JôTö [ýÇLçc÷O ×_Fç *  

 

6. (Eõ) $Jô]Ç æ$RôOçEõç ×_Fç (VÇ$RôOç»)  2  2 = 4 

  ^TöÝ³VÐXçU VÇ¾»ç, C]»TöÝUï, %]»ãEõçb 

 (F) “c÷OÌ̂ ç» Eõç»ãS %ã`b WýXî[ýçV, c÷OC å^ A$RôOç VçX *” – c÷OÌ̂ çTö åEõçãX, EõçEõ, ×Eõ Eõç»STö WýXî[ýçV 

×Vä$K÷ *   2 

 

7. $Tö_» YÒ̀ Âa]Éc÷» ^Uç^U =wø» ×VÌ̂ ç  f  1  4 = 4 

 (Eõ) åEõçXFX YÇ×U» Eõã[ý `Ý_\öVÐc÷O %a] YÒEõç`X Y×»bV» [ýg$RôOç _ç\ö Eõ×»×$K÷_ ? 

 (F) ^TöÝ³VÐXçU VÇ¾»çEõ ×Eõ Eõ×[ý [ýÇ×_ åEõç¾ç c÷Ì̂  ? 

 (G) ‘C]»TöÝUï’ YÇ×UFX åEõçXFX YÇ×U» \öç[ýçXÇ[ýçV ? 

 (H) `Ý_\öVÐ» YÒU]FX =YXîça aeEõ_X» Xç] ×Eõ ? 

 

8. YÒaeG aeG×Tö V`ïçc÷O [ýîçFîç Eõ»ç (A$RôOç»)  4 

 (Eõ) ×aˆù ]Ç×XGãS    ×$Jô×Ü™öÌ̂ ç XçYçã¾  

   åÅaç c÷×» ^ã`çVç å[ýçã_ *  

 (F) åTgöã¾ Eõç] åTgöã¾ Eõ]Þ åTgöã¾ Eõç×»Eõ»  

  ×X¸JôÌ̂  ×X¸JôÌ̂  åTgöã¾ ×[ý`ŸF×XEõ» **  

 

9. (Eõ) ‘×[ý`ŸF×XEõ»’ Eõ×[ýTöç×$RôO» ]çãL×V YÒEõç×`Tö %çWýîç×Å±ÁEõ V`ïX» $Jô]Ç %ç\öça ×VÌ̂ ç *   6 

                Xçc÷O[ýç  
 (F) åTöç]ç» YçPö» ]çWý¾ãV¾» [ý»GÝTöä$RôOç» ]çãLã» \ö×Nþ» \öç¾ ×EõVã» YÒEõç` Yçc÷Oä$K÷ %çã_ç$JôXç Eõ»ç *  
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10. Tö_» YÒ̀ Âã[ýç»» ^Uç^U =wø» ×VÌ̂ ç  f 1  4 = 4 

 (i) »ç]ãWýXÇ %çã_ç$JôXÝFX åYçXãTö åEõçãX a+çVXç Eõ×»×$K÷_ ? 

 (ii) åEõ`¾ ]c÷Ü™öc÷O Eõ×[ý ×c÷$Jôçã[ý YÒU]ãTö %ç±ÁYÒEõç` Eõ»ç %çã_ç$JôXÝFX» Xç] ×Eõ ? 

 (iii) åLîç×TöYÒaçV %çG»¾ç_çEõ ]É_Tö ×Eõ Eõ×[ý [ýÇ×_ åEõç¾ç c÷Ì̂  ? 

 (iv) ‘YÒ[ýÇ̂ ù’ `Œ» %Uï ×Eõ ? 

 

11. Tö_» YÒ̀ Âå[ýç»» =wø» ×_Fç :  2  3 = 6 

 (Eõ) “åc÷ å]ç» %çã_çEõYÉLç»Ý YÒçS” – EõUçbç»» TöçdY ï̂î [ýîçFîç Eõ»ç *  

 (F) åEõ`¾ ]c÷Ü™öc÷O »$JôXç Eõ»ç ×^ åEõçãXç VÇFX YÇ×U» Xç] ×_Fç *  

 (G) %a]ÝÌ̂ ç Eõ×[ýTöç» %çWýÇ×XEõ ^ÇG aÊ×rôTö %×»c÷Xç å^çãGç¾ç VÇFX %çã_ç$JôXÝ»ö ×[ýbãÌ̂  ×_Fç *  

 (H) åLîç×TöYÒaçV %çG»¾ç_ç» Eõ×[ýTöç» é[ý×`rôî a]Éc÷ ×Eõ ×Eõ ? 

 

12. Tö_» å^ åEõçãXç ×Tö×X$RôOç YÒ̀ Â» =wø» ×_Fç *  2  3 = 6 

 (Eõ) ac÷L %UïTö ]É_îã[ýçWý ]çãX  ×Eõ ? 

 (F) ]É_îã[ýçWý ×y]Ý×Tö [ýÇ×_ EõçEõ åEõç¾ç éc÷ä$K÷ ? 

 (G) éX×TöEõ ]É_îã[ýçãWý ×Eõ [ýÇLçÌ̂  ? 

 (H) \öç»TöÝÌ̂  V`ïãX \öçG Eõ»ç ]É_îã[ýçWý $Jôç×»$RôOç ×Eõ ×Eõ ? 

 

13. %×Tö $Jô]ÇêEõ ^Uç^U =wø» ×_Fç *  1  4 = 4 

 (Eõ) ]çXÇc÷» LÝ¾X» =    `î _ç\ö» =YçÌ̂  ×Eõ ? 

 (F) ×Eõ %×[ýc÷ãX ]çXÇc÷ %ç»Ó %Xî LÝ¾-LÜ™Çö» ]çLTö YÒã\öV XçUç×Eõ[ý ? 

 (G) YÒU] %¾ØšöçTö ‘]É_î’ `Œä$RôOç ×Eõ =    ä`î [ýî¾c÷ç» Eõ»ç éc÷×$K÷_ ? 

 (H) aEõã_ç [ýØ™Çöã» AEõ B`Ÿ×»Eõ åaì³V^ïî %çä$K÷ * Ac÷Oä$RôOç Eõç» ]Tö ? 
___________ 


